










































A



LEFT END SHOWN

CL

U.S.

PAT.
NO.

5,778,490

DOORS AND BUILDING COMPONENTS

DO NOT remove, paint over or conceal this label.

DOOR MUST be fully opened when making tension adjustments. Never remove

tension pin without first securing spring tension with winding bar. Winding bar

must be min. 3/8" dia. solid steel rod.

WARNING! Tension pin must be inserted in one of eight 5/16 " holes in

tensioner assembly and must pass through a 17/64" hole in bracket with ball

detent of pin engaged in bracket.

HIGH SPRING TENSION can cause serious injury or death. Adjustments and

repairs must be made by a qualified door mechanic using proper tools and

instructions.

A













Trim Line System

6'-2"

8-8" 8'-8" 8" 16" 16"

NOTE: Layout using 2'-0" - 3'-0" increments respectfully.                  

A

3'-8"3'-8"3'-8"3'-8"3'-8"

3'-8"8" 3'-8"16" 16"

Establish chalk-line layout on floor to corresponding 
architectural unit mix.  Snap lines on floor and mark 
dimensions of door openings.

NOTE: Hash marks (    ) show layout dimension with 
corresponding measurement between each mark.

5'-0"
O.C.

(TYP)

10'-0" O.C.
(TYP)10'-0"7'-6"

O.C.

8"16"16" 6'-2" 6'-2" 16" 16"8'-8" 8'-8"

16"16" 16" 3'-8"16" 16" 8"

STEP #1

ESTABLISHING BOUNDARIES AND DIMENSIONS



ATTACH FLOOR CHANNEL AND
BASE ANCHORS

Corawall Bottom Channel
20 ga. Glossy White 10' long (typ)  

flush with the Chalk Line 

  TL-Single
Base Channel
    (8")

TL-Double Base Channel

1 1/2" x 3/4" x 3/4" unit
Galvalume bottom channel 16"

STEP #2

Position the base channel approx. 1/4" from the perpendicular
Galvalume unit bottom channel. See view A-A.

1/4" gap between unit bottom 
channel and TL-Base channel

A
A

GALVALUME
BOTTOM CHANNEL

VIEW A-A

1) All bottom channel to be fastened 4 places per 10' -0" using
powder actuated fasteners w/ 3/4" long pin (Supplied by others).

2) Fasten Corawall Bottom Channel (    ) to the inside of the
    boundary chalk line.

1/4" GAP

3'-8"

3'-8"

4) Leave (1/4") gap at all Galvalume unit bottom channel locations.

at 8" single locations and 16" double locations.
3) Fasten Base Channel (single & double) on chalk line 

Chalk Line
(---------)

  TL-Double
Base Channel
    (16")

NOTES:

8"

Trim Line System

A

TL-BASE
CHANNEL

16"

16"

3'-8"

16"

8'-8"

1/4" Wide Gap
between the wall
and Bottom Channel.





INSTALL STARTER AND TOP ANGLES

STEP #3

GALVALUME
STARTER
ANGLE

GALVALUME
STARTER ANGLE

GALVALUME
STARTER ANGLE

STEP #3.2
Fasten 2" x 2" Galvalume starter angle
at base into  Galvalume partition channel
with #8 x 1/2" galvanized Tek screws.
Keep as level as possible. (typ)
(Apply temporary bracing if necessary)

                 STEP #3.3
Place 3" x 3" glossy white corner starter angle on the
outside corner.  Fasten at bottom.  Level, plumb, and
brace in both directions as shown.

(3) FASTENERS PER
STARTER ANGLE

GLOSSY WHITE 
HALLWAY 

STARTER ANGLE

GALVALUME
PARTITION
CHANNEL
(TYP)

SEE SH 3
FOR DETAILS

TEMPORARY BRACING
AT ALL LOCATIONS
(if necessary)

 STEP #3.4 
Install 2" x 2" x 10' Galvalume top angle flush to top of starter angle
at all locations.  Fasten at each starter angle, using #8 x 1/2" Galvanized
Tek screws.  Also, level and plumb the starter angle on hallway.STEP #3.1 

Place 2" x 2" Galvalume
starter angle against wall at
bottom channel as shown.  Plumb starter angle
with level and fasten to wall using (3) powder
actuated fasteners.
-----------------------
For hallway starter angle use the same method 
using 2" x 2" glossy white starter angle.

GALVALUME
TOP ANGLE

GALVALUME
TOP ANGLE
(TYP)

3" x 3"
CORNER STARTER 

 ANGLE

Trim-Line System

A





Trim Line System

VARIES

A

2 3/8"

POWDER ACTUATED
FASTENERS

TYPICAL FRAMING FOR SYSTEM 500
HALLWAY APPLICATIONS

TYPICAL FRAMING FOR HALLWAY SYSTEMS 
AT SINGLE OR DOUBLE ROLLUP FRAMES

TL-CORAWALL BOTTOM 
CHANNEL ON CHALKLINE.

2" x 2" GALVALUME
STARTER ANGLE

LEVEL IN BOTH DIRECTIONS

1 1/2" x 3/4" x 3/4" GALVALUME
BOTTOM CHANNEL

2" x 2" x 10' GALVALUME
TOP ANGLE

2" x 2 5/16" x 3" GLOSSY
WHITE TOP CHANNEL WITH
2" LEG FACING HALLWAY

FASTENER

LEVEL IN BOTH DIRECTIONS

FASTENER

2" x 2" x 10' GALVALUME TOP ANGLE

2" x 2 5/16" x 3" GLOSSY WHITE TL-TOP CHANNEL

2" x 2" GALVALUME
STARTER ANGLE

1 1/2" x 3/4" X 3/4" GALVALUME
BOTTOM CHANNEL

POWDER ACTUATED
FASTENERS

TL-ROLL-UP BASE CHANNEL
CHALK LINE



SEE DETAIL 2 SEE DETAIL 1

 DETAIL 1  DETAIL 2 

LOCKING SEAM (TYP) OVERLAPPING SEAM

STEP #5

INSTALLATION OF PARTITION SHEETS AND MIDSPAN

STEP #5.1
Decrimp Galvalume partition sheet at all 4 corners where edges have 
been crimped together by the cutting operation during manufacturing.

NOTES:
1) When installing unit partition, place Galvalume partition sheets 
inside bottom channel and up against top angle locking sheets 
together as shown in detail 1.

AA

SEE DETAIL 3

 DETAIL 3 

MID SPAN BRACING AT STARTER ANGLE

B

B

 SECTION "A-A" 

C

C

TEKS SCREWS WITH MOCAPS

 SECTION "B-B" 

PARTITION SHEET ATTACHMENT
TO BOTTOM CHANNEL

 SECTION "C-C" 

MIDSPAN
BRACING

MID SPAN
BRACING

STARTER
ANGLE

PLACE FASTENER 
BELOW SHORT LEG OF 
CHANNEL AS SHOWN

CORRUGATED
GALVALUME

PARTITION
SHEET

BOTTOM CHANNEL

FASTENERS TO BE INSIDE BOTTOM
CHANNEL (SEE SECTION C-C)

BOTTOM CHANNEL

STARTER ANGLE

(3) #8 X 1/2 " GALVANIZED
TEKS SCREWS PER
STARTER ANGLE 
EQUALLY SPACED
WITH MOCAPS

TOP ANGLE

(6) #8 X 1/2" 
GALVANIZED
TEKS SCREWS
PER PANEL

STARTER ANGLE

2) After partition sheets are locked together they may not work 
out to  be the correct length for a unit.  In that case overlap the 
2 sheets nearest the wall as shown in detail 2.

3) When installing midspan in step 6, use 18 screws per 10' 
piece of midspan.  (3 screws per Galvalume partition sheet.)  
Midspan is to be attached to side of partition the starter angle 
is on.  (See detail 3).
NOTE: Midspan is optional on unit partitoning systems.

4) Midspan optional on any walls per customer request.

(optional)

(optional)

TL-ROLL-UP 
FRAME
BASE CHANNEL

Trim Line System

A

CORRUGATED
GALVALUME

PARTITION
SHEET

 FRONT VIEW 
APPLICATION OF MID SPAN BRACING

MID SPAN BRACING
ATTACHMENT TO
PARTITION SHEET





STEP 6.3
Install single and double rollup frames making sure 
the frames are level and plumb.  Use white 
#8 x 1/2" Teks screws as shown in 
A-400-961-0005.16.

HALLWAY 
STARTER

ANGLE

WHITE TEKS
WITH MOCAPS

(OPTIONAL)

TL-DOUBLE
ROLLUP FRAME

TL-DOUBLE
ROLLUP
FRAME

MID SPAN BRACING
(INSIDE OF UNIT)

MID SPAN
BRACING
(optional)

MIDSPAN OPTIONAL
ON UNIT PARTITIONS

NOTE:

16"

A

STEP #6.1
Install Hallway partition sheets (12"
glossy white flush hallway partition).  Fasten from inside with #8 x 1/2" white Teks
screws.  Use (3) #8 x 1/2" white Teks screws with mocaps at hallway starter angle.

MID SPAN BRACING
(ONE SIDE OF WALL)

8"

INSTALL HALLWAY PARTITION
SHEETS, MIDSPAN BRACING AND
ROLLUP FRAMES

STEP #6

CORAWALL

CORAWALL
BOTTOM
CHANNEL

16"

STEP #6.2
Install midspan bracing (see A-400-961-0005.04) from unit side, using Teks screws on
inside leg of Corawall.  Install unit partition midspan bracing
in the same manner, using galvanized Teks screws.
See section "B-B" on sheet A-400-961-0005.13.







INSTALLATION OF ROLLUP DOORS

SEE ROLLUP DOOR
INSTALLATION INSTRUCTIONS

NOTE:

Trim Line System

1:50

A

STEP #9


